
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

tre frazioni, decimali, ordine delle operazioni con
parentesi

(2 + ) ÷ 6 =
5
168

2( + ) =
5
2

5
3

( + 3) ÷ 5 =
2
15

4(4, 3 + ) =
4
1

(5 − 5, 9) × =
5
3

(5 + 4, 7) × =
6
1

(4 + ) × 3, 2 =
5
3

2(4, 6 − ) =
2
1

2( + 4, 3) =
3
1

( + ) ÷ 4 =
5
48

5
66
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Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

tre frazioni, decimali, ordine delle operazioni con
parentesi

(2 + ) ÷ 6 =
5
168

15
89

2( + ) = 2
5
2

5
3

( + 3) ÷ 5 =
2
15

10
21

4(4, 3 + ) =
4
1

5
91

(5 − 5, 9) × = (− )
5
3

50
27

(5 + 4, 7) × =
6
1

60
97

(4 + ) × 3, 2 =
5
3

25
368

2(4, 6 − ) =
2
1

5
41

2( + 4, 3) =
3
1

15
139

( + ) ÷ 4 =
5
48

5
66

10
57
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